


AL

ik
=< L

ﬁ

'hf" s r#

.;,.\

M

S

N

L

-?_HHJII‘?A ¢

FRBI .
T B R

CKER

= e

i - AR AT

AL B

AR AT

A L )

¥
gl
T

i
15 v rr"( ¢
. \Ji!‘@'. S A
e A
R R T g i

T B (¢,
ﬁ .$E

#mm Aﬁﬁiﬁz

b

i s
-

BAE
o Nag HF;

|
st
g

-
¥




¢TH

LH

¢H

09s

§SS

0SS

SYS

ovs

§€S

tt4d

¢TH

8 LH

® ZH

® 095

§SS

0SS

SYS

ors

HB8)

¢TH

LH

CH

09s

Gss

0SS

GvS

ors

|




5,000

H11 H14
4,000

1,643m3/s

<X3,000 |

2,000 1,074m3/s

S T8 711 A

o

-

2583388
\—

N

-~






BOD

=4 =g

BOD 75%

5.0
4.0 |
QB0

1.0
0.8 r
{\—3"0.6 r
= e
0.2 r
0.0 * ——"T—o T ——T—o - —— .




SS

]
COD cCoD i
5 —o— —
o = 4 —-— -
i J.! ta E” 3 //\\ —a— _
. ~ N \:\ _—
'H\ 8 2 — . ~———
R o1
, 0
A H9 H10 H11 H12 H13 Hi4
SS ss
200
< 150
(o))
£ 100
n 25mg/I
0 &— 9 ——— g —+—
H9 H10 H11 H12 H13 Hi14
10 T-N
g 0.8
ZI 04 ‘=’7ﬁ<;///:\\‘\'::
~ 0.2
0.0
H9 H10 H11 H12 H13 Hi4
T-P
0.06 PN N
< 0.05
S 004 | v \/‘
- =003
F o001 |
0.00 | | | | |
J H9 H10 H11 H12 H13 Hl14

T
I
£COD
< 4
g 3
5’ ’ '/\ A
0 S
O 1
0
H9 H10 H11l H12 H13 H14
SS
200
< 150
j@)]
£ 100
B 50 | /A5m9/| L"
0 | | | |
H9 H10 H11 H12 H13 H14
10 TN
go.s -
£ 06
zI 04
| ._,\‘_‘/*\’
F 02
OO | | | | |
H9 H10 H1l H12 H13 H14
006 =P
2-3004 A
% 002 —
|_
0.00 : :

H9 H10 H11 H12 H13 Hi4




BOD 75%

SS

BOD

ST

v1

€T

4

17

0T

ST

1

€T

[

17

0T

SS

[elololo}No)e oo
OO OO0 OO

~NOWSEMAN A

ST

vT

el

4

17

0T

ST

vT

el

et

11

0T







—

_n PS
qu 7 PS
B u_‘
— e { =&
L I_F’f | PS
3
7] feisifle
ORI I T M
— | d -~
A3 |

B






